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Q:-1. In a circle with center O, an arc ABC subtends an angle of 110° at

the center of the circle. The chord AB is produced to a point P. Then

<CBP is equal to:

%% 0 9Tet Ueh g7 |, T 919 ABC T % g 9< 110° T HI0T FAT HdT 2
ST AB &1 T fog P @& 92T SI1aT g1 96 <CBP SX1&T 31T &:

| (a) 60°
(b) 55°
(c) 65°
(d) 70°




Q:-2. The sides of triangle are 10 m., 12 m. and 14 m. What will
be the area of the that triangle?

PSSt T o{sIT0 10 €Y., 12 €. 3T 14 HY. 39 B[S &1 &%
|1 T2

| (a) 3733
(b) 30 cm?
(c) 24+/6 cm?
(d) 24 cm?




Q:-3. Joseph bought two woolen jackets for Rs. 2100 and Rs.
3150 respectively. By selling the first at a gain of k% and the
second at a loss of k%, he found the selling price of both is
the same. What is the value of k?

STH o 3T ST e FAL: 2100 T 1T 3150 =07 | @) qg?r \

| ST k% & ATH 9T 3T T FT k% il g1 I d=ah<, I 977 o
| AT T AwT T 99T g1 K T 919 7 872
- (a) 20

(b) 22.64

(c) 15

(d) 25
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Q:-4. In a wallet, there are notes of the denominations of 10
and 50. The total notes is 12. The number of 10 and 50 notes
are in the ratio of 1:2. Total money in the wallet is:

T 92T H 10 3T 50 F eI & 1€ gl F A1 12 31 10 T 50
% Il i H&IT 1:2 % JATUTT H gl IET H FT AT 8

(a) 280
(b) 360
(c) 440
(d) 110
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Q:-5. The average weight of 16 boys in a class is 65
kg and that of the remaining 10 boys is 52 kg. The
average weight of all boys in the class is:

| T AT H 16 TShi T SEd 7L 65 THAT 3 37T AT 10

L TS &7 52 TRUT 21 FAT | THT TS0 T 39T A =

(a) 56
(b) 55
(c) 60
(d) 53
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Q:-6. A Birthday cap is in the form of a right circular cone which has

base of radius as 9 cm and height equal to 12 cm. Find the area of the

sheet required to make 14 such caps ? |
| TH TS 9 THh A AT O4F o ©F | g (ordent T &A1 9 AT 3% ST
12 {4 F Fra 81 Y 14 ST F9 & Rorw smasas ofie &1 e sa

(a) 5940
(b) 2450
(c) 6930
(d) 8840

bt




Q:-7. In a AABC, points P, Q and R are taken on AB, BC and
CA, respectively, such that BQ = PQ and QC = QR. If <BAC =
75°, what is the measure of <PQR (in degrees)?
u% ABC #, g P, Q 3 R %7 ##HaT: AB, BC 3% CA T 39 TH1X
ferar sTaT 2 % BQ = PQ 3T QC = QRI 7fe <BAC = 75°, <PQR

| (=T &) &7 /719 FAT 82
CINE
(b) 50
(c) 30
(d) 40
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Q:-8. A certain sum is deposited for 4 years at a rate of 10% per annum
on compound interest compounded annually. The difference between the
interest at the end of 2 years and that at the end of 4 years is Rs. 5,082.

Find the sum (in Rs.) ?

s fAfsra iy g Tl sams 9 10% T a9 #it I H 4 97 & g

L STHT 6t STt g1 2 99 & ofd | 3T 4 99 & 3(d | sFTST o o= T Aa< 5,082

W&%mﬁraﬁaﬁﬁﬂzwﬁﬁ)
(a) 20000
(b) 10164
(c) 50820
(d) 25500
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Q:-9. The ratio of the monthly incomes of A and B is 11:13 and the ratio

of their expenditures is 9: 11. If both of them manage to save Rs. 4,000
per month, then find the difference in their incomes (in Rs.)
AsﬁTBaﬁmﬁmmma@mﬂ 13 B 3T a6 [T T FqaTq 9:11 g1 TfT |
%aﬁﬁa@ﬁrﬁ%‘rwwmﬁ%n 4,000 T /T, AT STl 3T H Fq< AT

(a)4000
(b)2500
(€)3000
(d)3200

ﬁﬁrq(acr&fr)
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Q:-10. A solid cube of side 8 cm is dropped into a rectangular container
of length 16 cm, breadth 8 cm and height 15 cm which is partly filled
with water. If the cube is completely submerged, then the rise of water
level (in cm) is:
8 THY ST AT U SIH & [ 16 T TS, 8 FHY AMSTS < 15 FHY AT
| 9T T IATHRIE 9T | T S1av @ S A9 €9 § gt 9 9 giatl 2l

i< o9 9XT 938 AT I 8, AT I« &< ¥ Fhg (AHT H) =
(a) 6
' (b) 4
(c) 2
(d) 5
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Q:-11. An item costs Rs. 400. During a festival sale, a company offers a
sale discount that offers X% off on its regular price along with a discount
coupon of 10%. The price of the item after using both the sale discount
and the discount coupon, is Rs. 216. What is the value of x ?

T FE 1 AT 400 TT g1 AT i Tohl & I, Teh a1 foont ge T |

AT gl Tt g2 Sl P TAT AT T STANT HLA & q1Q I i hiqd 216
T Bl X T T FAT 8?2

(a) 30

(b)40

(c)35

(d)25

Wﬁgsﬁm%%%wmw%mqwﬁﬁaﬁﬂWWX% HT S T
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Q:-12. If x + y +3=0, then find the value of x® + y3-9xy +9 = ?
Tfe X +y+ 3=0, ar x3+ y3-9xy +9 = ? T HIT ATq HIST?

(A)-36
(B)-18
(C)36
(D)18
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Q:-13. Find the value of the following
expression:

Aol S9STeh T |19 ATd hifo(T:
372 + 56 x 7-5+2

(a) 58

(b)43;
(c)-Zg

93
(d)2 o2







